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Kochi: Abhilash Tomy may be a solo circumnavigator of the world. braving the elements and his own
demons. but at heart. he remains his mama's little boy. The greater the risk he takes. the more important it
becomes to him to get his mother Valsamma's "Permission". Around Saturday noon, in their Kochi home.
Abhilash's parents Lt Cdr VC Tomy (retd) and Valsamma were understandably elated. While watching the
live-streaming video of their son sailling into Les Sables d'Olonne Marina. France. after 236 days on the high
seas. Tomy said that his son's achievement will motivate more Indians will motivate more Indians to love
sailing. When asked if Abhilash will sail for the next edition of the Golden Globe Race (GGR) aiming for pole
position. Tomy said he would not be surprised if he does but then quickly glances at valsamma for
confirmation.

Often in the past, Abhilassh had to seek 'external high-profile’ help to convinee his mother to grant permission
for his sailing adventures. In 2012. for instance, Vice Admiral (retired) Manohar Prahlad Awati. known as the
father of the Indian Navy's circumnavigation adventures and Abhilash's primary mentor and guru. came to
Tomy's house in Kochi to convince Valsamma to let Abhilash sail in the 151-day circumnavigation Sagar
Parikrama on Mhadei. "It 1s not that I would oppose his dreams. But he feels happy and confident to get my
approval and blessing." Valsamma told TOI at her house at Kandanad in Kochi. Valsamma still remembers
how upset Abhilash was after failing in the GGR in 2018. She painfully recalls how Abhilash survived three
days in Thuriya until the rescue team found him. He could not move from the boat's bunk to fetch water or
food and he survived on a few packets of ice tea.

"He fought death with nearly-functionless legs until he was rescued 70 hours later. I witnessed his excruciating
pain. In the hospital bed. he reminded me of him as a baby as he was literally crawling on the bed. He
eventually made his baby steps and he learnt to walk again. In hospital, I used to tell him 'learn to work. we
have to sail again': but I never thought he would take it seriously and reattempt the gruelling 30.000-mile race
four years later. He convinced me he would be safe and we prayed for his safe return.” his mom Valsamma
said.

"As always it 1 his life and choices. I have not opposed any of his decistions and I will not. Sailing has been
his sole passion since he mastered swimming. When he was 14, he took me for a short sail in a small boat in
the backwaters and the way he controlled the boat amazed me."Tomy said.

Sub questions

Question Number : 1 Question Id : 68634014283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph who is known as the father of the Indian Navy's

Circumnavigation adventures?

—

. VC Tomy

b2

. Monahar Prahlad Awati

(%]

. Valsamma

4. Abhilash Tomy

Options :

68634056401. 1
68634056402. 2
68634056403. 3
68634056404. 4



Question Number : 2 Question Id : 68634014284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synonym of the term used in this passage 'Elate’ 1s :

1. Proud

[ )

. Sad

3. Elemu

4. Surprised
Options :
68634056405. 1
68634056406. 2

68634056407. 3
68634056408. 4

Question Number : 3 Question Id : 68634014285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who is Abhilash's primary mentor and guru?
1. Manohar Parekh
2. Retired vice Adlmiral M.P Awati
3. Lt Cdr VC Tomy
4. Kirsten Neushafer
Options :
68634056409. 1
68634056410. 2

68634056411. 3
68634056412. 4

Question Number : 4 Question Id : 68634014286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

GGR stands for:

1. Gold Globe race

[ )

. Global golden race
3. Golden globe race

4. Golden global racist



Options :

68634056413. 1
68634056414. 2
68634056415. 3
68634056416. 4

Question Number : 5 Question Id : 68634014287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

One word for sail all the way round is:

1. Circlenavilate

| B

. Circumshipet
3. Circlenavigate
4. Circumnavigate

Options :

68634056417. 1
68634056418. 2
68634056419. 3
68634056420. 4

Question Id : 68634014282 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Kochi: Abhilash Tomy may be a solo circumnavigator of the world. braving the elements and his own
demons. but at heart. he remains his mama's little boy. The greater the risk he takes. the more important it
becomes to him to get his mother Valsamma's "Permission". Around Saturday noon, in their Kochi home.
Abhilash's parents Lt Cdr VC Tomy (retd) and Valsamma were understandably elated. While watching the
live-streaming video of their son sailling into Les Sables d'Olonne Marina. France. after 236 days on the high
seas. Tomy said that his son's achievement will motivate more Indians will motivate more Indians to love
sailing. When asked if Abhilash will sail for the next edition of the Golden Globe Race (GGR) aiming for pole
position. Tomy said he would not be surprised if he does but then quickly glances at valsamma for
confirmation.

Often in the past, Abhilassh had to seek 'external high-profile’ help to convinee his mother to grant permission
for his sailing adventures. In 2012. for instance, Vice Admiral (retired) Manohar Prahlad Awati. known as the
father of the Indian Navy's circumnavigation adventures and Abhilash's primary mentor and guru. came to
Tomy's house in Kochi to convince Valsamma to let Abhilash sail in the 151-day circumnavigation Sagar
Parikrama on Mhadei. "It 1s not that I would oppose his dreams. But he feels happy and confident to get my
approval and blessing." Valsamma told TOI at her house at Kandanad in Kochi. Valsamma still remembers
how upset Abhilash was after failing in the GGR in 2018. She painfully recalls how Abhilash survived three
days in Thuriya until the rescue team found him. He could not move from the boat's bunk to fetch water or
food and he survived on a few packets of ice tea.

"He fought death with nearly-functionless legs until he was rescued 70 hours later. I witnessed his excruciating
pain. In the hospital bed. he reminded me of him as a baby as he was literally crawling on the bed. He
eventually made his baby steps and he learnt to walk again. In hospital, I used to tell him 'learn to work. we
have to sail again': but I never thought he would take it seriously and reattempt the gruelling 30.000-mile race
four years later. He convinced me he would be safe and we prayed for his safe return.” his mom Valsamma
said.

"As always it 1 his life and choices. I have not opposed any of his decistions and I will not. Sailing has been
his sole passion since he mastered swimming. When he was 14, he took me for a short sail in a small boat in
the backwaters and the way he controlled the boat amazed me."Tomy said.

Sub questions

Question Number : 1 Question Id : 68634014283 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to this paragraph who is known as the father of the Indian Navy's

Circumnavigation adventures?

—

. VC Tomy

b2

. Monahar Prahlad Awati

(%]

. Valsamma

4. Abhilash Tomy

Options :

68634056401. 1
68634056402. 2
68634056403. 3
68634056404. 4



Question Number : 2 Question Id : 68634014284 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Synonym of the term used in this passage 'Elate’ 1s :

1. Proud

[ )

. Sad

3. Elemu

4. Surprised
Options :
68634056405. 1
68634056406. 2

68634056407. 3
68634056408. 4

Question Number : 3 Question Id : 68634014285 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Who is Abhilash's primary mentor and guru?
1. Manohar Parekh
2. Retired vice Adlmiral M.P Awati
3. Lt Cdr VC Tomy
4. Kirsten Neushafer
Options :
68634056409. 1
68634056410. 2

68634056411. 3
68634056412. 4

Question Number : 4 Question Id : 68634014286 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

GGR stands for:

1. Gold Globe race

[ )

. Global golden race
3. Golden globe race

4. Golden global racist



Options :

68634056413. 1
68634056414. 2
68634056415. 3
68634056416. 4

Question Number : 5 Question Id : 68634014287 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

One word for sail all the way round is:

1. Circlenavilate

| B

. Circumshipet

LIPS ]

. Circlenavigate
4. Circumnavigate

Options :

68634056417. 1
68634056418. 2
68634056419. 3
68634056420. 4

Sub-Section Number : 2
Sub-Section Id : 686340475
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634014288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the options below:

1. TRIGONUMETEY

| )

. TRIGOONOMITRY
3. TRIGONOMETEY

4. TRIGUNOMITRY

Options :

68634056421. 1
68634056422. 2
68634056423. 3
68634056424. 4

Question Number : 6 Question Id : 68634014288 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correctly spelt word from the options below:

1. TRIGONUMETEY

| B

. TRIGOONOMITRY
3. TRIGONOMETRY
4, TRIGUNOMITEY

Options :

68634056421. 1

68634056422. 2

68634056423. 3
68634056424. 4

Question Number : 7 Question Id : 68634014289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Fill in the blank with suitable word from the options given below:

My very thoughts were like the rustle of dead leaves

1. welcome

| B)

Nively
3. ghostly
4. funny

Options :

68634056425. 1
68634056426. 2
68634056427. 3
68634056428. 4

Question Number : 7 Question Id : 68634014289 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blank with suitable word from the options given below:
My very thoughts were like the rustle of dead leaves

1. welcome

-2

lively
3. ghostly
4. funny

Options :

68634056425. 1
68634056426. 2
68634056427. 3
68634056428. 4

Question Number : 8 Question Id : 68634014290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word REPREHENSIBLE' is.

1. Culpable

| B

. commendable
3. Fearful
4. Ignorant

Options :

68634056429. 1
68634056430. 2
68634056431. 3
68634056432. 4

Question Number : 8 Question Id : 68634014290 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word ' REPREHENSIBLE' is.

1. Culpable

| )

. commendable
3. Fearful
4. Tgnorant

Options :



68634056429. 1
68634056430. 2
68634056431. 3
68634056432 4

Question Number : 9 Question Id : 68634014291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Select the suitable synonym for the given word:

Father

1. Fluctuate

| B)

. Flirt

L¥ )

. Stable
4. Overflow

Options :

68634056433. 1
68634056434. 2
68634056435. 3
68634056436. 4

Question Number : 9 Question Id : 68634014291 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Select the suitable synonym for the given word:

Father

1. Fluctuate

[ ]

. Flirt

L#N]

. Stable
4. Overflow

Options :

68634056433. 1
68634056434. 2
68634056435. 3
68634056436. 4

Question Number : 10 Question Id : 68634014292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fill in the blanks with appropriate prepositions from the options given below

A firefighter was injured while trying douse a blaze northeast Delhi's Shastri park area
Saturday

1. to. at. on
2. for. in. at
3. to. in. on
4, out. at. in
Options :
68634056437. 1
68634056438. 2

68634056439. 3
68634056440. 4

Question Number : 10 Question Id : 68634014292 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below

A firefighter was injured while trying douse a blaze northeast Delhi's Shastri park area
Saturday

1. to. at. on
2. for. in. at
3. to. in. on
4. out. at. in
Options :
68634056437. 1
68634056438. 2

68634056439. 3
68634056440. 4

Question Number : 11 Question Id : 68634014293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2
The value of \,U._—E‘} 18

0.00121

170
11

L]
1l

| ]

;170

12
5170
21

Options :

68634056441. 1
68634056442. 2
68634056443. 3
68634056444. 4

Question Number : 11 Question Id : 68634014293 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

”
The value of \,U_‘iﬁ,f} 18

0.00121
170
11
17
11

| ]

170
12

170

i b
21
Options :
68634056441. 1
68634056442. 2
68634056443. 3
68634056444. 4

Question Number : 12 Question Id : 68634014294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value of a machine depreciates by 15% annually. If the present value of machine 1s 1.50.000 then what
will be its value after 2 years?

1. 21.00.000
2. 21,08,375
3. 21.58,000
4, 372250

Options :

68634056445. 1
68634056446. 2
68634056447. 3
68634056448. 4

Question Number : 12 Question Id : 68634014294 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of a machine depreciates by 15% annually. If the present value of machine is 1.50.000 then what
will be its value after 2 years?

1. 21.00.000
2.21.08,375
3. 21.58,000
4. F72250

Options :

68634056445. 1
68634056446. 2
68634056447. 3
68634056448. 4

Question Number : 13 Question Id : 68634014295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the cost price of an item 1s 88% of its selling price. then the profit percentage will be: (correct to two places
of decimal)

1. 18.20%

[
sl
!
[
=1
=]
o

4. 13.64%

Options :



68634056449. 1
68634056450. 2
68634056451. 3
68634056452 4

Question Number : 13 Question Id : 68634014295 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the cost price of an item 1s 88% of its selling price. then the profit percentage will be: (correct to two places
of decimal)

1. 18.20%

[
sl
!
[
=1
=]
o

4. 13.64%

Options :

68634056449. 1
68634056450. 2
68634056451. 3
68634056452. 4

Question Number : 14 Question Id : 68634014296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bus runs at a speed of 30 kmv/'h for the first 12 minutes and at a speed of 45km/h for the next 8 minutes. The
average speed of the bus for the entire journey (in km/h) is.

1. 30

[ ]
L]
e

4. 40

Options :

68634056453. 1
68634056454. 2
68634056455. 3
68634056456. 4

Question Number : 14 Question Id : 68634014296 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A bus runs at a speed of 30 kmv/'h for the first 12 minutes and at a speed of 45km/h for the next 8 minutes. The
average speed of the bus for the entire journey (in km/h) is.

1. 30

| )

35
3. 36
4,40
Options :
68634056453. 1
68634056454. 2

68634056455. 3
68634056456. 4

Question Number : 15 Question Id : 68634014297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The sum of length, breath and height of a cuboid 1s 19em. If the length of its longest diagonal 1s 11em, then
what 1s its surface area?

1. 162 em?

180 em?

| ]

3.216 em?

4. 240 em?

Options :

68634056457. 1
68634056458. 2
68634056459. 3
68634056460. 4

Question Number : 15 Question Id : 68634014297 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The sum of length, breath and height of a cuboid 13 19cm. If the length of its longest diagonal is 11cm, then
what is its surface area?

1. 162 em?

| ]

. 180 em?
3.216 em?
4. 240 em?

Options :

68634056457. 1
68634056458. 2
68634056459. 3
68634056460. 4

Question Number : 16 Question Id : 68634014298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A letter from these matrices can be represented first by its row and then the column number.

0|1 (23] 4 56|78
O[F| O M| S|RI||S5|A|T|D|I

SIRIF|O|M|[6]]1 |P|A|T|D
2| 0M|S|RIFIHT|IT|D|TI|FP|A
3IR|F|OM|S||8|P|A|T|D|I
¢ M|S|IRIF|IQG2!D]1|FIA|T

Identify the correct set for the word "SOAP"

1. 01, 03,79, 85

|
o
o

.22, 13, 59, 86,
3.22, 20,97, 98
4. 22, 20, 86, 85

Options :

68634056461. 1
68634056462. 2
68634056463. 3
68634056464. 4

Question Number : 16 Question Id : 68634014298 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A letter from these matrices can be represented first by its row and then the column number.

0|1 (23] 4 5({6|7 8|9
O[F| O M| S|RI||S5|A|T|D|I
IfS|IR|F|O|M||6|/1|P|A|T|D
2| 0M|S|RIFIHT|IT|D|TI|FP|A
3IR|F|OM|S||8|P|A|T|D|I
¢ M|S|IRIF|IQG2!D]1|FIA|T

Identify the correct set for the word "SOAP"

1. 01, 03,79, 85

|
o
o

.22, 13. 59, 86,
3.22, 20,97, 98
4. 22, 20, 86, 85

Options :

68634056461. 1
68634056462. 2
68634056463. 3
68634056464. 4

Question Number : 17 Question Id : 68634014299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many triangles are there in the following figure?

4.6

Options :

68634056465. 1
68634056466. 2
68634056467. 3
68634056468. 4



Question Number : 17 Question Id : 68634014299 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

How many triangles are there in the following figure?

[ ]
[
b

4.6

Options :

68634056465. 1
68634056466. 2
68634056467. 3
68634056468. 4

Question Number : 18 Question Id : 68634014300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fig(x) 1s embedded in which of the following alternatives?

Options :

68634056469. 1
68634056470. 2
68634056471. 3
68634056472 4

Question Number : 18 Question Id : 68634014300 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fig(x) 1s embedded in which of the following alternatives?

Options :

68634056469. 1
68634056470. 2
68634056471. 3
68634056472. 4

Question Number : 19 Question Id : 68634014301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A group of four inter-related words 1s given. Choose another group with similar relationship. from the
following alternatives.

Tehsil: District: State: Country
1. Metropolitan: Megalopolis: Town: City
2. Block: Colony : Zone: city
3. Province: District: State: Country
4. Madhya Pradesh: Maharashtra: Mumbai : Victoria Terminus

Options :

68634056473. 1
68634056474. 2
68634056475. 3
68634056476. 4

Question Number : 19 Question Id : 68634014301 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A group of four inter-related words 1s given. Choose another group with similar relationship. from the
following alternatives.

Tehsil: District: State: Country
1. Metropolitan: Megalopolis: Town: City
2. Block: Colony : Zone: city
3. Province: District: State: Country
4. Madhya Pradesh: Maharashtra: Mumbai : Victoria Terminus

Options :

68634056473. 1
68634056474. 2
68634056475. 3
68634056476. 4

Question Number : 20 Question Id : 68634014302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can be best represented by the figure below:

A. Judge. Thief. criminal

B. Vegetable. Potato. Cabbage
C. Furniture. Table. Chair

D. Famuly, Husband, Wife

E. Year, Week, Day

Choose the correct answer from the options given below:

1. A B. Conly

| )

.B. C.D only
3.C.D.E only
4. B.D. E only

Options :

68634056477. 1
68634056478. 2
68634056479. 3
68634056480. 4

Question Number : 20 Question Id : 68634014302 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following can be best represented by the figure below:

A. Judge. Thief. criminal

B. Vegetable. Potato. Cabbage
C. Furniture. Table. Chair

D. Famuly, Husband, Wife

E. Year, Week, Day

Choose the correct answer from the options given below:

1. A B. Conly

| )

.B. C.D only
3.C.D.E only
4. B.D. E only

Options :

68634056477. 1
68634056478. 2
68634056479. 3
68634056480. 4

Question Number : 21 Question Id : 68634014303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name of the short-range ballistic missile which was recently test-launched by India.

1. Prithvi-II

b2

CAgni-V
3. Vikas-II
4. Bhim-I

Options :

68634056481. 1
68634056482. 2
68634056483. 3
68634056484. 4

Question Number : 21 Question Id : 68634014303 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Name of the short-range ballistic missile which was recently test-launched by India.

1. Prithvi-II

2

CAeni-V
3. Vikas-II
4, Bhim-I
Options :
68634056481. 1
68634056482. 2

68634056483. 3
68634056484. 4

Question Number : 22 Question Id : 68634014304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following states is also known as " Land of Red river and Blue hills"?

1. Assam

2. Sikkim

Lad

. Manipur

4. Arnachal Pradesh

Options :

68634056485. 1
68634056486. 2
68634056487. 3
68634056488. 4

Question Number : 22 Question Id : 68634014304 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following states is also known as " Land of Red river and Blue hills"?

1. Assam

[ )

. Sildeim

Lad

. Manipur

4. Arunachal Pradesh

Options :
68634056485. 1
68634056486. 2



68634056487. 3
68634056488. 4

Question Number : 23 Question Id : 68634014305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Who was the deputy prime minister who subsequently became the Prime Minister of India?

1. V. P. Singh

[ ]

. Moraji Desai
3. Deve Gouda

4. Lal Bahadur Shastri

Options :

68634056489. 1
68634056490. 2
68634056491. 3
68634056492. 4

Question Number : 23 Question Id : 68634014305 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who was the deputy prime minister who subsequently became the Prime Minister of India?
1. V. P. Singh
2. Moraji Desai
3. Deve Gouda

4. Lal Bahadur Shastri

Options :

68634056489. 1
68634056490. 2
68634056491. 3
68634056492. 4

Question Number : 24 Question Id : 68634014306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a Water Harvesting Technique practiced in the state of Rajasthan?

1. Kattas

| B

. Khadims
3. Tals
4. Ahars

Options :

68634056493. 1
68634056494. 2
68634056495. 3
68634056496. 4

Question Number : 24 Question Id : 68634014306 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is a Water Harvesting Technique practiced in the state of Rajasthan?

1. Kattas
2. Khadims
3. Tals
4. Ahars

Options :

68634056493. 1

68634056494. 2

68634056495. 3
68634056496. 4

Question Number : 25 Question Id : 68634014307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Khelo India Youth Games:

A, They were formerly called Khelo India School Games and are played under two categories under-17
years for school students and under-21 for college students

B. Headquarter of Khelo India Youth Games 1s in Mumbai and Maharashtra won Khelo India Youth Games
2023

C. Haryana was the first state to win Khelo India Youth Games

D. Khelo India Youth Games 2023 were held in Bhopal

Choose the correct answer from the options given below:
1. B. C and D only
2. A CandD only
3.A.Band D only

4. A. B and C only

Options :

68634056497. 1
68634056498. 2
68634056499. 3
68634056500. 4

Question Number : 25 Question Id : 68634014307 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Khelo India Youth Games:

A. They were formerly called Khelo India School Games and are played under two categories under-17
years for school students and under-21 for college students

B. Headquarter of Khelo India Youth Games is in Mumbai and Maharashtra won Khelo India Youth Games
2023

C. Haryana was the first state to win Khelo India Youth Games

D. Khelo India Youth Games 2023 were held in Bhopal

Choose the correct answer from the options given below:
1. B. C and D only
2. A CandD only
3.A. B and D only

4. A. B and C only

Options :

68634056497. 1
68634056498. 2
68634056499. 3
68634056500. 4



Part B: Statistics

Section Id : 686340284
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 686340476
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634014308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The positive term sequence < a, > is such that @, = .a>0 then

+d,

1. < a, = is divergent

[ )
M

. 1
id;? = 18 convergent and converges to a + ;

3.<ag,> is convergent and converges to

Jda+1-1
3

Vda—-1+1
2

4. < a,> 1s convergent and converges to

Options :

68634056501. 1
68634056502. 2
68634056503. 3
68634056504. 4

Question Number : 26 Question Id : 68634014308 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634056501. 1
68634056502. 2
68634056503. 3
68634056504. 4

Question Number : 27 Question Id : 68634014309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1
=
=

| ]

Options :

68634056505. 1
68634056506. 2
68634056507. 3
68634056508. 4

Question Number : 27 Question Id : 68634014309 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-
L. -

1 1 1
2 —=+—F=+—F+....+
; Lﬁ V2 A3
lim =
— o n
1.0
g L
2
3.1
4.2

Options :

68634056505. 1
68634056506. 2
68634056507. 3
68634056508. 4

Question Number : 28 Question Id : 68634014310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. WS , ; n— 2 ;
The infinite series whose nth term 1s - x", x>0, is convergent . if
. £
n +1
l.1<x<3
o i
L= XD
2
3.2<x<8§
4. 0<x<1

Options :

68634056509. 1
68634056510. 2
68634056511. 3
68634056512. 4

Question Number : 28 Question Id : 68634014310 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o Aol R og [ 2L 27, x> 0 &, ST 8. 3

n +1

1.1 <3

[ ]
b | —

3.2<x<8
4.0<x<1

Options :

68634056509. 1
68634056510. 2
68634056511. 3
68634056512. 4

Question Number : 29 Question Id : 68634014311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; ; a
The sequence < a, >issuchthat @, > 04~ n=1and a R 2asn—ow.If b_” =2 then
R

1
lim {hl'hz' . __b”)f': is equal to

Fl—»n

[ ] —
et b | =

fad
| —

e -

Options :

68634056513. 1
68634056514. 2
68634056515. 3
68634056516. 4

Question Number : 29 Question Id : 68634014311 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HTPT<a,>THVPRE T a, > 04 n>1 T a, -2 Tq p—> 0. X %;2&@'

n

lim (bbb, 1 SRIER S -

Fl—

,_.
b | =

| )
—

L
4
Options :

68634056513. 1
68634056514. 2

68634056515. 3
68634056516. 4

Question Number : 30 Question Id : 68634014312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

] 1
- . M
4 K i g . — _) —
The positive term series E u, and E v, are such that N > then

—

z u, convergent implies that z v, 18 divergent

| )

! Z H, and Z 1’” are Ell“'ﬂ}'-"ﬁ convergent

Lad

: Z u, and Z v, always converge or diverge together

4. v convergent implies that % y is divergent
H - n R

Options :

68634056517. 1
68634056518. 2
68634056519. 3
68634056520. 4

Question Number : 30 Question Id : 68634014312 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4.3y, SEERI g Sualad axarg o ¥, AR gl

Options :

68634056517. 1
68634056518.2
68634056519. 3
68634056520. 4

Question Number : 31 Question Id : 68634014313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

r+d
. x+1
lim =
ool x+6

| S
o
¥

4. e

Options :

68634056521. 1
68634056522. 2
68634056523. 3
68634056524. 4

Question Number : 31 Question Id : 68634014313 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a x+4
\ x+1
lim =

X2\ X +0/

| o]

Options :

68634056521. 1
68634056522. 2
68634056523. 3
68634056524. 4

Question Number : 32 Question Id : 68634014314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

l-2cosx+cos2x

lim -
1=+l X

| )
=

L
4.2

Options :

68634056525. 1
68634056526. 2
68634056527. 3
68634056528. 4

Question Number : 32 Question Id : 68634014314 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. 1—2cosx+cos2x _
lim =
11— xX

| )
=)

341
4.2

Options :

68634056525. 1
68634056526. 2
68634056527. 3
68634056528. 4

Question Number : 33 Question Id : 68634014315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 |

Options :

68634056529. 1
68634056530. 2
68634056531. 3
68634056532 4

Question Number : 33 Question Id : 68634014315 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- AT
lim | tan| Z + x |Jx =
x—0 \ "\4 )

rd

[ )
[
L

4.-1

Options :

68634056529. 1
68634056530. 2
68634056531. 3
68634056532 4

Question Number : 34 Question Id : 68634014316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 2 ;
o +4H‘L’ (jr,,_y};-‘:([],J {'}}
If f: R - Ris defined by f (¥, ) =1 222 +8% +81 -9 (x,3)=(0,0)

A

Then the value of . so that f

is continuous at (0, 0) 1s

1.0

| )
[

4. 18

Options :

68634056533. 1
68634056534. 2
68634056535. 3
68634056536. 4

Question Number : 34 Question Id : 68634014316 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 +4yt  (xy)#(0.0)
gfe f: R — RSU VSR URUIT 8 i flxy)= JZJ_—3+3}=1 +81 -9 GEPACAG T

A

A

oA & e £, (0.0) R Idd &

1.0

| ]
[y

4 18

Options :

68634056533. 1
68634056534. 2
68634056535. 3
68634056536. 4

Question Number : 35 Question Id : 68634014317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The number of roots of the equation f ( x) =x*—4x +1=0 that lic between 0 and 1 is

1.0

| )
—

4.3

Options :

68634056537. 1
68634056538. 2
68634056539. 3
68634056540. 4

Question Number : 35 Question Id : 68634014317 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B £ (x) = x* —dx +1=0 F e B TS 0 71 1 & il femr 8. 8 -

1::0

| ]
[

4.3

Options :

68634056537. 1
68634056538. 2
68634056539. 3
68634056540. 4

Question Number : 36 Question Id : 68634014318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“ 2
Volume generated by revolving ellipse T—_J +2_ —] about y-axis is:

a

2
wa b

b | =

2 )
=mub”
=

a

b2

-
P

3 = mah
3

4, i na’h
3

Options :

68634056541. 1
68634056542. 2
68634056543. 3
68634056544. 4

Question Number : 36 Question Id : 68634014318 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



»-31& & IR TG SHgd L_g_zla?trwmaﬁaa{m%

| B}
=
=
%

4, i na’h
3

Options :

68634056541. 1
68634056542. 2
68634056543. 3
68634056544. 4

Question Number : 37 Question Id : 68634014319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LetA={(x.y.2).x>0,y>0,z>0and x +y + z < 1}. Then value of III(5-T+3J’ +1 13) dxdydz is equal to:
A

50 | =

[ ]

4.1

Options :

68634056545. 1
68634056546. 2
68634056547. 3
68634056548. 4

Question Number : 37 Question Id : 68634014319 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AMTA={(x.3.2).x>0.y>0, z> 0@ x+y+2z=1}. TG [[[(Sx+8y+11z) dvdydz PTHH SRR T
A4

| ]

4.1

Options :

68634056545. 1
68634056546. 2
68634056547. 3
68634056548. 4

Question Number : 38 Question Id : 68634014320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ijnmx(x1y)dn@::
00

[ ]
=

4.2
3

Options :

68634056549. 1
68634056550. 2
68634056551. 3
68634056552 4

Question Number : 38 Question Id : 68634014320 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘”max (x, ) dxdy =
00

[ ]
=

Lt | B

4.2
3

Options :

68634056549. 1
68634056550. 2
68634056551. 3
68634056552 4

Question Number : 39 Question Id : 68634014321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; e
The length of the loop of a curve X = 2, Y= —— i

ja—y

3
5.3
3343
4. 443

Options :

68634056553. 1
68634056554. 2
68634056555. 3
68634056556. 4

| )

Question Number : 39 Question Id : 68634014321 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



[
2
&>

4. 4‘5

Options :

68634056553. 1
68634056554. 2
68634056555. 3
68634056556. 4

Question Number : 40 Question Id : 68634014322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

jj min(xj }'}dft‘f{v -
00

| )

| 2

|

=y
Lt | n

Options :

68634056557. 1
68634056558. 2
68634056559. 3
68634056560. 4

Question Number : 40 Question Id : 68634014322 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



jj min(x, }‘}dx.:;ﬁ-— -
00

| )

e | B2

| 4

=y
Lt | n

Options :

68634056557. 1
68634056558. 2
68634056559. 3
68634056560. 4

Question Number : 41 Question Id : 68634014323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 4
240086 7
Rank of matrix 18

36 8 9

4 7 9 10]
1.1
2.2
3.3
4.4
Options :

68634056561. 1
68634056562. 2
68634056563. 3
68634056564. 4

Question Number : 41 Question Id : 68634014323 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 3 4
2 5 6 7 o
g GARCHT
36 B 9 g
4 7 9 H]_'
1.1
2.2
3.3
4.4
Options :

68634056561. 1
68634056562. 2
68634056563. 3
68634056564. 4

Question Number : 42 Question Id : 68634014324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

21 &
. . . . n 2 oL
If | ¢ 0 e |issymmetric matrix, then minimum value of { b+ C)“ i { o 8)” 1s
da 2 -3

4.8

Options :

68634056565. 1
68634056566. 2
68634056567. 3
68634056568. 4

Question Number : 42 Question Id : 68634014324 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 1 b
| 0 o | THMT AT T. T (p+c)’ +(d +e)* PILIHAAE -

4.8

Options :

68634056565. 1
68634056566. 2
68634056567. 3
68634056568. 4

Question Number : 43 Question Id : 68634014325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 -1 2
IFA=|2 3 4]|and a3 =.-:l'ﬁ2 HBA ﬂ.thcnralue of o —2B—3y.is

1 -2 0

1.56

252

3. 44

4.17

Options :

68634056569. 1
68634056570. 2
68634056571. 3
68634056572. 4

Question Number : 43 Question Id : 68634014325 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 -1 2
af 4=|2 3 4| T A —ad?+pA+9/.T6 a - 2B - JyDFTAAR
1 =2 0

[ ]
L
| )

4. 17

Options :

68634056569. 1
68634056570. 2
68634056571. 3
68634056572. 4

Question Number : 44 Question Id : 68634014326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 0 1 2
Rank of tl ' L4 5],
ank of the matrix 0 0 -1 7 18
LZ 0 2 8B
1.4
2.3
3.2
4.1
Options :

68634056573. 1
68634056574. 2
68634056575. 3
68634056576. 4

Question Number : 44 Question Id : 68634014326 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 0 1 2
0 1 4 5 3
ﬁnﬂ—l?ﬁ 8-
12 0 -2 8
1.4
3
3.2
4.1

Options :

68634056573. 1
68634056574. 2
68634056575. 3
68634056576. 4

Question Number : 45 Question Id : 68634014327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If A is square matrix of order 4 and |4|=1. and |3Adj(34dj(34) | = 3% then value of a is:

1.12

| ]
Lh
J

3.102
4. 201

Options :

68634056577.
68634056578.
68634056579.
68634056580.

AW N =

Question Number : 45 Question Id : 68634014327 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a4 BIC 4 BT T TG § TUT |4|=1. TUT [3Adi(3Adi(34) | = 3% TF o BT A ©-

1712

[
h
b

3.102
4,201

Options :

68634056577.
68634056578.
68634056579.
68634056580.

AW N =

Question Number : 46 Question Id : 68634014328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The value of . so that the differential equation (x° + v )dx + oy dy = 0, will become exact, is:

1.1

[
[

4.3

Options :

68634056581. 1
68634056582. 2
68634056583. 3
68634056584. 4

Question Number : 46 Question Id : 68634014328 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

o P fbT T & AU, 3/@dd FHBR (3 +17)dx + ooy? dy = 0 TUTTY T S0

1.-1

| )
[y

4.3

Options :
68634056581. 1
68634056582. 2



68634056583. 3
68634056584. 4

Question Number : 47 Question Id : 68634014329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a’l dy

The particular integral of the differential equation == 4 3 i +9y=siny 1s
o ax

1. (8sinx —3[:05,\:}

| )

—(8sinx —3cosx)
3. il[:fiﬂinx—P‘n:u:a.f,;s:}
73

4. % (8sinx —5cosx)

Options :

68634056585. 1
68634056586. 2
68634056587. 3
68634056588. 4

Question Number : 47 Question Id : 68634014329 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

maﬁwﬂm_m}—smﬂﬁ‘-ﬁW%-

dx* ax

1. (8sinx —3[:05,\:}

| )

—(8sinx —3cosx)
3. il[:fiﬂinx—P‘n:u:a.f,;s:}
73

4. % (8sinx —5cosx)

Options :

68634056585. 1
68634056586. 2
68634056587. 3
68634056588. 4



Question Number : 48 Question Id : 68634014330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dzy e
=~ 4+ 3=
de®  dx

The complimentary function of a differential equation +9y=4cosx 1s

e 3B 3B )
|

1. ¢ ', cos= —x + (, sin- X
2 . 2
3x
loe 2 (1005ir4 € ﬁ
. 2 2
Ix
3. e 2{('] cosq{x+£ b11§ ]

X7
4. ¢ 2 [C] coa%x +C, sin%x}

Options :

68634056589. 1
68634056590. 2
68634056591. 3
68634056592. 4

Question Number : 48 Question Id : 68634014330 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

> .
A griiexT ‘;-j +3%+9y=4c05x %1 TP B ©-
Ao X

33
3

R S

,.;..'i

[ ]
L)
|
()

3
Cos—x + 112 sin——
2 2

Ix
e 2 {('] cos—— q‘f:@ + b111§x

33 33

X
4. ¢ 2 C, cos——x + C, sin——x
24 2

Options :
68634056589. 1



68634056590. 2
68634056591. 3
68634056592. 4

Question Number : 49 Question Id : 68634014331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2
The complete solution of differential equation ﬁj Ei Zi +y=06xe " is
dx” x

P 5 \+{J

I._.'I

(@
(Gt +Cx* +C) e
3. (x3 I Cl.x+(_'f2]€_r

4. (C].r+ C‘z]e_T

Options :

68634056593. 1
68634056594. 2
68634056595. 3
68634056596. 4

Question Number : 49 Question Id : 68634014331 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s wimRo 40 +2: = 6xe™™ BTEHU EAT -

dx*

[y

: (Clx3 + Cox +(.‘3)e_‘

| )

((,'I:f"l +C,x" +C, )e""
3 - —~ S
5 (x + Cx + ('3]‘*’

4. (C]x+ Cz]e_'f

Options :

68634056593. 1
68634056594. 2
68634056595. 3
68634056596. 4



Question Number : 50 Question Id : 68634014332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b

IfD:i.thevalueof ] I s 2 ol
dx D+1 (l+.\'}_ (I+I)'

[
+
™

2]
™

Options :

68634056597. 1
68634056598. 2
68634056599. 3
68634056600. 4

Question Number : 50 Question Id : 68634014332 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{ b
aft p- 4 gg —. T 2.,3 GORE A
chx D+1 .(l+'1'_}_ (1+x)
1 X
i ‘—Fe C
(1+x)
2 ! ,?+€'T(

e
i@ =

* (1+x)?

Options :
68634056597. 1



68634056598. 2
68634056599. 3
68634056600. 4

Question Number : 51 Question Id : 68634014333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a distribution, if values of the three quartiles are 4. 6 and 14, then Bowley's coefficient of skewness is:

1. 02

(B

0.6
3. 0.8

4.09

Options :

68634056601. 1
68634056602. 2
68634056603. 3
68634056604. 4

Question Number : 51 Question Id : 68634014333 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

sied & forg. afe diF Iqdiel &1 7 4. 6 9T 14 B, T8 A9RI BT S50 01T &

D2

|

.0.6
5: .8

4.09

Options :

68634056601.
68634056602.
68634056603.
68634056604.

AW N =

Question Number : 52 Question Id : 68634014334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The value of x for which the expression {l\ -1 2| - |x —‘)| - lx - I4| + |x - t’)‘ + Ix -1 Ul + Ix -1 UU“ attains its

minimum value 1s

1.1

| ]
| )
Rle]

4.62

Options :

68634056605. 1
68634056606. 2
68634056607. 3
68634056608. 4

Question Number : 52 Question Id : 68634014334 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
x @ {8 A & [T S (|x —12] + [x = 9] + |r = 14] + |x = 6] + [x = 10| + |x 10|} 3195 YATH A dB
A %-
1.1

| ]
| )
D

4. 62

Options :

68634056605. 1
68634056606. 2
68634056607. 3
68634056608. 4

Question Number : 53 Question Id : 68634014335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A cyclist pedals from his house to his college at a speed of 20 kmph and returns from his college to his house
at a speed of 30 kmph. His average speed (in kmph) is

1. 25

[ ]
| ]
=,

4, 22

Options :

68634056609. 1
68634056610. 2
68634056611. 3
68634056612. 4

Question Number : 53 Question Id : 68634014335 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Higldel AR USH T §U S0 TR I U Diciel aob 20 fbwil/gel 1 91 9 il & qul aad ${9-
Il ¥ 3O TR T 30 frHl/der 9 o 81 SU! 3id 9rd (faHlden & -

125

b2
| )
e

4. 22

Options :

68634056609. 1
68634056610. 2
68634056611. 3
68634056612. 4

Question Number : 54 Question Id : 68634014336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If 4 letters are to be placed randomly in 4 correspondingly addressed envelopes. then the probability that none
of them goes to the right envelope 1s:

oy
oo |

[ )

20 | wh

Options :

68634056613. 1
68634056614. 2
68634056615. 3
68634056616. 4

Question Number : 54 Question Id : 68634014336 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe 4 =i & 4 Td Ud ara e 3 grefese Wa oal 8. 98 394 ¥ fodt & o get forers | a8 o
D WIS B-

o0 |

[ ]

o0 | L

7
A
8

Options :

68634056613. 1
68634056614. 2
68634056615. 3
68634056616. 4

Question Number : 55 Question Id : 68634014337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Two numbers are selected at random from the numbers 1.2.3....... 24 with replacement. If 4 and B represent the

cvents that the numbers drawn are multiples of 4 and 5 respectively. then p( 7| )+ p(F | 4)1s equal to

19
12

[ ]

Options :

68634056617. 1
68634056618. 2
68634056619. 3
68634056620. 4

Question Number : 55 Question Id : 68634014337 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<l =Tt At d O 4 s 1.2.3........ 24 1 WO & 91y AT ST © | Afe 4 TUT B ge13f &)
S ISR it ¢ fob FapTel 115 WReuTd ousr: 4 GUT 5 & UG €. 9 p7 | )+ p(F | 4) TISR G -

19
12

[ ]

Options :

68634056617. 1
68634056618. 2
68634056619. 3
68634056620. 4

Question Number : 56 Question Id : 68634014338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For a distribution. if values of the Pearson's coefficients are f; = 0.09, B, = 4. then the moment based
coefficient of skewness is:

|

13

[

Options :

68634056621. 1
68634056622. 2
68634056623. 3
68634056624. 4

Question Number : 56 Question Id : 68634014338 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s & g, T fUaRE= T[uiiep] BT | By = 0.09. B, = 4 &, T8 T BT ST TR 011 &:

l
13

[ ]

Options :

68634056621. 1
68634056622. 2
68634056623. 3
68634056624. 4

Question Number : 57 Question Id : 68634014339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



»

2
If for some data p;=3, p,=9 and G° =5 then the value of My s

My

,_.
L |

[ )

|

"R
3
Options :
68634056625. 1
68634056626. 2
68634056627. 3
68634056628. 4

Question Number : 57 Question Id : 68634014339 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aft $o P! B 1Y p,=3. =0 TUT o> = 5. 79 L2 FTAHA2-
Ky

,_.
|

1
[FU %

Options :

68634056625. 1
68634056626. 2
68634056627. 3
68634056628. 4

Question Number : 58 Question Id : 68634014340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A five-digit number with distinct digits is to be formed by using digits 0. 1. 2. 3. 4 and 5. The probability that
the number so formed is divisible by 3, 1s:

[
bd | =

=]

)
B |e

ra |,
t.nl""

Options :

68634056629. 1
68634056630. 2
68634056631. 3
68634056632. 4

Question Number : 58 Question Id : 68634014340 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T 0, 1, 2. 3. 4 TUT 5 F WONT §RI 9T 3! &1 T=AT T4 9t o | 59 UHR §41 T & 3 I fgurforg
e P UREdr & -

| )

i
25
Options :
68634056629. 1
68634056630. 2
68634056631. 3
68634056632. 4

Question Number : 59 Question Id : 68634014341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



: ST : e : : ;
In a sequence of independent Bernoulli | 2 trails. the probability of getting three successes in 4 successive
"
trials is

o=
16

| ]

2w

Options :

68634056633. 1
68634056634. 2
68634056635. 3
68634056636. 4

Question Number : 59 Question Id : 68634014341 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eﬁﬂ@i‘vﬁ[?} GRI&uT & 3shH 1, 4 il Gigul § 49 Shadisi & Ui g @1 Wiidedl g -

[

Tad

z

Options :

68634056633. 1
68634056634. 2
68634056635. 3
68634056636. 4

Question Number : 60 Question Id : 68634014342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a sequence of tossing three coins simultaneously, the probability of getting all heads or all tails for the
second time on fifth toss is:

27
5

[

9
;

Options :

68634056637.
68634056638.
68634056639.
68634056640.

AW N =

Question Number : 60 Question Id : 68634014342 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fﬂ:{ﬁaﬁéﬁw-aﬁ 3BIeH & 3hd |, 5df I81d W fgdia ar g4 f=ra ar wft ue urd & &1
WA & -

27
Li—¢
2}

27
28

| )

Options :

68634056637.
68634056638.
68634056639.
68634056640.

AW N =

Question Number : 61 Question Id : 68634014343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If the sequence of 1.1.d random variables X;. X; ... assume values —1 and +1 with equal probabilities then

Var (X)of X = Z X; is
=]

i

1
2

| ]
[

3in—1

4. n

Options :

68634056641. 1
68634056642. 2
68634056643. 3
68634056644. 4

Question Number : 61 Question Id : 68634014343 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢ i.i.d TEfE5® ORI X, X, ... BT SIHH -1 TUT +1 A TAF Wl & 91y ol 5. 99
X = Z X, &1 Var (X) -

1
2

Options :

68634056641. 1
68634056642. 2
68634056643. 3
68634056644. 4

Question Number : 62 Question Id : 68634014344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A symmetric die 1s thrown 600 times. Using Chebychev's inequality. the lower bound of probability for getting
80 to 120 four's. 1s

19
24

b2

1
2

S

Options :

68634056645. 1
68634056646. 2
68634056647. 3
68634056648. 4

Question Number : 62 Question Id : 68634014344 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Big AT U1 600 R T WIdl ¢ | Sfe=a 3RTHd1 & WA gRT. 80 ¥ 120 IR IR WK $34 & fou
qifiedl &1 = afia=s § -

19
24

1.

| ]

| — b | —

=

Options :

68634056645. 1
68634056646. 2
68634056647. 3
68634056648. 4

Question Number : 63 Question Id : 68634014345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1

The moment generating function of random variable X is given by M (t‘ ] = 7, ®<Ii<®0 then
(9-8¢')
PX>=1)is:

]
17”

i

Options :

68634056649. 1
68634056650. 2
68634056651. 3
68634056652. 4

Question Number : 63 Question Id : 68634014345 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UREf5® =R X 1 SYUioHS e fedrmag: M_(¢) :;H_ —w<t<wTEP(X>1)8-
(9-8@’)
1 1—9%
ot
.
s 1—#

Options :

68634056649. 1
68634056650. 2
68634056651. 3
68634056652. 4



Question Number : 64 Question Id : 68634014346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The moment generating function of random variable X'1s given by 34 () =2+ —wcrca then

Ell{,’l’ 2;4] 18:

1.1125

| )

. 250
3. 300
4. 450

Options :

68634056653. 1
68634056654. 2
68634056655. 3
68634056656. 4

Question Number : 64 Question Id : 68634014346 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

% TR X BT SMUSFP Ber RAT TR - M (1) =% —m<r<o 00 £((x )3

1125

| )

. 250
3. 300
4. 450

Options :

68634056653. 1
68634056654. 2
68634056655. 3
68634056656. 4

Question Number : 65 Question Id : 68634014347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The mode of Binomial distribution with parameters n =21 and p = 0.3. 1s:

1.9

| B
sl

4.

Lh

Options :

68634056657. 1
68634056658. 2
68634056659. 3
68634056660. 4

Question Number : 65 Question Id : 68634014347 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fgTe ded. o W n=21 U p=03 8. B 950D ©

1.9

b2
s}

4,

[

Options :

68634056657. 1
68634056658. 2
68634056659. 3
68634056660. 4

Question Number : 66 Question Id : 68634014348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Let the joint probability mass function of the random variables X and Y be given by

FEATOR
PlX=xV=y)= | - =] Lp=0,12..5x=12,..
21y i3/

0
then E(X) is equal to

otherwise

1.1

b2
| ]

4.4

Options :

68634056661. 1
68634056662. 2
68634056663. 3
68634056664. 4

Question Number : 66 Question Id : 68634014348 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
M1 ATefEsed =R X a4 Y &1 Ggad Wiiiedl SoudH Bad (a1 71 §

YLt
PlX=xY=y)=1 ,:, l ] % ¥=0,12...5x=1,2,..
=Wy iva)
0

HOYT
9 E(X) SRR & -

[l |

[ )
2

4.4

Options :

68634056661. 1
68634056662. 2
68634056663. 3
68634056664. 4

Question Number : 67 Question Id : 68634014349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The variance of t-distribution with 18 degree of freedom is:

1.1

| B

. 1.125
3.15
4.2

Options :

68634056665. 1
68634056666. 2
68634056667. 3
68634056668. 4

Question Number : 67 Question Id : 68634014349 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

18 TWAFdl B DI B t-8c BT VR0 © -

1.1

-

s 1125
3.1.5
4.2

Options :

68634056665. 1
68634056666. 2
68634056667. 3
68634056668. 4

Question Number : 68 Question Id : 68634014350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A

W=——=
It X,.X,.... X, be a random sample from normal population .-'\.-’({L 0‘2J and (1% ¥2 then sampling
B
2
distribution of — 1s
n
1 n-1
)
2 2
1 n-1
9 B] —,
252
2
3. IIF{ﬁ—l}
2
4. !{ )
Options :

68634056669. 1
68634056670. 2
68634056671. 3
68634056672. 4

Question Number : 68 Question Id : 68634014350 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634056669. 1
68634056670. 2
68634056671. 3
68634056672. 4

Question Number : 69 Question Id : 68634014351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

If X follows the Bmomial distribution with parameters n=100 and p=0.5. then approximate distribution of
| i) U] 18

. N(pzﬁﬂ,cz :25]

—

| B

N[p —50,0% = 25{})

2
L

Options :

68634056673. 1
68634056674. 2
68634056675. 3
68634056676. 4



Question Number : 69 Question Id : 68634014351 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: X AR .
Alg X Wl n=100 TUT p=0.5 & 1Y [GUE & BT SRV Hdl 5. A9 |—S—10] o Afde s g -
b, o=

1. N(p, =50,0% = 25]

| )

. N(p - 50, 6% = 250)

2
%@

2
v )

Options :

68634056673. 1
68634056674. 2
68634056675. 3
68634056676. 4

Question Number : 70 Question Id : 68634014352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T

)
Let X1.Xo..... X, be a random sample from the normal population IV (M| » O ) and let

l i ] ) , )
S = Z (X I § ) . Let ¥,.Y;......Y,, be another independent random sample (independent of X'

I

—\2
also) from the normal population N (p 920 - ) and let Sg = (Y_, — }”] . Then the distribution

M ) S

of (m—=1) 57 +(n—1) 83

e]

18

bt

2
L x[:m*n—ﬁ}

[ ]

2
: x{m—m—[]

3't(m—n—2}

4. t(m +n—1)
Options :
68634056677. 1
68634056678. 2
68634056679. 3
68634056680. 4

Question Number : 70 Question Id : 68634014352 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I. i 25 2
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O X, X,..... X, TEHR 90y N(u,,o-z] Y grefess AT e aul 7 =
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Y. Y,.... Y, WHHER 9HE N(pz, 02) ¥ IR W Jlefase 441 (X« ¥ i @aa) § aur

H 2 2
S7 = : (11.—17]2 ag m=1) 8 t(”‘USE PIECT -
"?3_1 #=] G-
2
1 x[mﬂr—ﬂ}

2
2 x{n.i—m—l]

'T(m—n—E}

4. t(m.—n— 1)
Options :
68634056677. 1
68634056678. 2
68634056679. 3
68634056680. 4

Question Number : 71 Question Id : 68634014353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X and Y are 1.1.d.Uniform(0, 1) variates. then the moment generating function of 2X - Y. 1s:

1.
2.et
e —(e" +c—:'_’]—]
3. 2
2t°
2 g
e”! —(E’ —-e :)_]
4 2
2t
Options :

68634056681. 1
68634056682. 2
68634056683. 3
68634056684. 4



Question Number : 71 Question Id : 68634014353 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g X qUT Y i.1.d THIHAM (0. 1) fGwR 8, 99 2X - Y BT STYUieHD B o

1.t

[
a
Bl

3. L]
2t
3 i
e —(e" - f)—I
4,
21

Options :

68634056681. 1
68634056682. 2
68634056683. 3
68634056684. 4

Question Number : 72 Question Id : 68634014354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-
o

e g ; o X+Y
If X and Y are independent standard normal variates. then distribution of (
X-Y

o |
1. Beta Type-II with parameters LE , E]

2. Beta Type-II with parameters (2, 1)

3. Beta Type-II with parameters (1, 2)

(1 3
4. Beta Type-I with parameters LE. E]

Options :

68634056685. 1
68634056686. 2
68634056687. 3
68634056688. 4

Question Number : 72 Question Id : 68634014354 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

i el _
gfe X qUT Y Wa-d 5F® Y9E md{%.ﬁﬁ{;er] & dc o-
||
1. Ur=d ks @ 1Y 9] WhR-II

2. UM (2. 1) & 91U SieT YHR-I

3. UM (1., 2) & 1Y SieT HHR-II

4. U= G%J & 1Y die] YBR-I
Options :
68634056685. 1
68634056686. 2
68634056687. 3
68634056688. 4

Question Number : 73 Question Id : 68634014355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

. K 5 ] LA =32
Let X.X,........X,, be a random sample from normal population N (u, o” ) . Define §° g Y (x.—-X) and
J e r_l
T= (R-spn g (cov(X.7))is -
g . .

2

Options :



68634056689. 1
68634056690. 2
68634056691. 3
68634056692. 4

Question Number : 73 Question Id : 68634014355 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

AT X, Xs....... X, WHH GHE N(uﬁ) 4 0o urefed ufded ¢ aRkyifia g - s - - z (%,-%)
Yyl 1 = (K_'“)J;.ﬂﬁ'(ca»‘{f,?‘]'}%-
S ' '
,"rr |
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Options :

68634056689. 1
68634056690. 2
68634056691. 3
68634056692. 4

Question Number : 74 Question Id : 68634014356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R R Ty - 1 ¢ 2 1—1) 82 +(n—1) 53
S]-:—.]Z[XJ.—X) ,S—f: . Z(}j—}’) ..S"i,:(m L]In{”z )5 and o7 is unknown. then

under Hy ([ =H3. s

2.N(0, 1)

3. t(m—n—ij

4. T(m +n-1)
Options :
68634056693. 1
68634056694. 2
68634056695. 3
68634056696. 4

Question Number : 74 Question Id : 68634014356 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



: it n k2 =1} 24 (n=1) 2 ;
S]-:L_]Z(Pﬂ-—x),siz 1 Z(f;.—}’)j.sﬁz(m ST+ oy o2 oAt

Hi+n—2

-2

CN(0. 1)
: T(m +n-2)
: T(m—n— 1)

Options :

68634056693. 1
68634056694. 2
68634056695. 3
68634056696. 4

Question Number : 75 Question Id : 68634014357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The joint probability density function of two random variables X and Y is given as:

, ~(x+y)
f(xy)=

,x>0and y>0

0 , otherwise

Then value of P(2X > 3Y) 18 :

._.
=1 | tn

| )

1=

32
"5

19
4. f—
20

Options :

68634056697. 1
68634056698. 2
68634056699. 3
68634056700. 4

Question Number : 75 Question Id : 68634014357 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

<l grefese wR1 X 99T Y &1 Uga Wiiedl 99d Bad o8 UeR 6316 -

) x> 0wy >0
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MR RS

dgP(2X > 3Y) BIHH & -

—1 |t
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e

19
20

Options :
68634056697. 1



68634056698. 2
68634056699. 3
68634056700. 4

Question Number : 76 Question Id : 68634014358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ay 1 2 3
The joint probability mass function of two random variables X and Y is given as: ? :;, i‘: :j: , Where
2 ip 5p ;,',.r)
-0
Y

Thenvalue of P(X <1 [Y=2)+P(Y =22 |X=1) 1s:

15
11

b2 | —

19
22

Options :

68634056701. 1
68634056702. 2
68634056703. 3
68634056704. 4

Question Number : 76 Question Id : 68634014358 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



<l Uref=se 4RI X aUT Y &1 Sga Wil sod - e 58 HeR a1 g -

Xy 1 2@ 3

0 P 2p 3p GIET
1 2p 4p Sp| 32
2 ip 5p Tp

dEP(X<1/Y=2)+P(Y>2X=1)BIAAE

15
11
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(
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Options :

68634056701. 1
68634056702. 2
68634056703. 3
68634056704. 4

Question Number : 77 Question Id : 68634014359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 .
If f {_r,_]'] = E 1:1-‘2 UO<x< i% < y < 2then value of E(X) 1s :

3

| )
wh

=y

= WLV

Options :

68634056705. 1
68634056706. 2
68634056707. 3



68634056708. 4

Question Number : 77 Question Id : 68634014359 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe flxy) =%.‘qv3.0<:.\'~':3,2—;( <y<2 @E(X)aﬂm%

| )

(%]
|

=

Options :

68634056705. 1
68634056706. 2
68634056707 3
68634056708. 4

Question Number : 78 Question Id : 68634014360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The joint probability density function of two random variables X and Y 1s given by

1 I
——,l<x<wand—<y<x

I

H (x,_v) =< 2x%y X

0 ., otherwise

1
Then the value of E[ 5 } is

~1|

| B

-1 =

Lh | k3

9

Options :

68634056709. 1
68634056710. 2
68634056711. 3
68634056712. 4

Question Number : 78 Question Id : 68634014360 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



<l grefese wR1 X 99T Y &1 Uga Wiiedl 99d Bad o8 UeR 6316 -
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fx,y)=42x"y x
0 , 4T
.
HHE[—j HAAT
A
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2
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Options :

68634056709. 1
68634056710. 2
68634056711. 3
68634056712. 4

Question Number : 79 Question Id : 68634014361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For a sequence of random variables X, X,.......let
Var (X;)=c" and for i # ]

crf;v[XI,Xj):{g li-jl=1,2

otherwise
Then this sequence of random variables shall follow the weak law of large numbers for

1. o1

| )

G>2

3.0>3

4. any finite values of G

Options :

68634056713. 1
68634056714.2
68634056715. 3
68634056716. 4

Question Number : 79 Question Id : 68634014361 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el = X,. X,...... P HpH & g,
HIAT Var (X;) —c? and for { # J ?ﬁﬁﬂl

o, |i-j|l=1,2

a4yl Cov (}"h X J,-] = {(]

dd Trefsse @RI &1 48 HIpd gof G131l & HHWR a0 IR i O & o a8 -

- |

[ ]

c>2

3.0>3

4. ¢ & fPH AT IR W

Options :
68634056713. 1



68634056714. 2
68634056715. 3
68634056716. 4

Question Number : 80 Question Id : 68634014362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The joint distribution of two random variables X and Y is
. X
f(x.y}z;e Pl<x<4, O<y<w

Then Var (Y) 1s

1.1 4(log,2)"

3 9
3 _I_4{Iug(,2]
2 9
4 . 4(log,2)’
9
Options :

68634056717. 1
68634056718. 2
68634056719. 3
68634056720. 4

Question Number : 80 Question Id : 68634014362 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



@ﬂﬁ%ﬂﬁxﬁiﬂﬁ’aﬂ@%aﬁf(x,y)=§€_‘“,l<x<4, 0<y<o g a9 Var(Y)®-

L1 4(log,2)

3 9
3.1 4(log,2)
2 9
4, 4(l0g,2)’
Q
Options :

68634056717. 1
68634056718. 2
68634056719. 3
68634056720. 4

Question Number : 81 Question Id : 68634014363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let WLLN hold good for the uniformly bounded sequence of random variables X3, X5....

Var( X, + Xy +..+ X))

Then condition 3% I8

n
1. Necessary for =10

2. Sufficient for A =10

|
o

3. Necessary and sufficient for ;. =

4. Necessary and sufficient for A

I
2]

Options :

68634056721. 1
68634056722 2
68634056723. 3
68634056724. 4

Question Number : 81 Question Id : 68634014363 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



M AT ® R X, X;.... & THGHH URES 3996 & [y WLLN 01 81 a9 Hiaae

Var(X;+ Xy +...+ X)) 5 2
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n
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=07 [T Sfggs
=0 forg gafa

=0 T sfTawae ay1 uaia
4. %= « P [T IS YT TAT
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Options :

68634056721. 1
68634056722. 2
68634056723. 3
68634056724. 4

Question Number : 82 Question Id : 68634014364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Zhy
Suppose two random variables X and Y are such that X ~ Uniform (0. 2)and Y | X = x ~ U [U,% J Then

E(X2Y?) is equal to

- (3)

!_J
8

Options :

68634056725.
68634056726.
68634056727.
68634056728.

W N =

Question Number : 82 Question Id : 68634014364 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A Al g TR R X AU YSUUPR ¢ b X ~ UHUHH (0. 2) AT Y | X = x ~ u(o,%} a9 E(X2Y?)

TR T

!1_.1
el B

= |

4,5
19

Options :

68634056725.
68634056726.
68634056727.
68634056728.

AW N =

Question Number : 83 Question Id : 68634014365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢
Let X}, X,,.....X,, be a random sample from population 7| 0 ——I, 0+ 1 ,0>0 .The maximum likelihood
e H 5 A

XX
g 2l 20
2

+1

Options :

68634056729. 1
68634056730. 2
68634056731. 3



68634056732. 4

Question Number : 83 Question Id : 68634014365 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

; o
qET X, X,,.... X, GA rsto—%,m%}n}n 4 U grefs® Uidasl g1 6 &1 sfUean Gyilad o
e
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P o VO
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Options :

68634056729. 1
68634056730. 2
68634056731. 3
68634056732. 4

Question Number : 84 Question Id : 68634014366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X}, X5,.....X,, be a random sample from population with probability density

function f(x)=2e—20*~ %) .x >0 and 6 >0. Then estimate of 8 by method of moments is:

b
I

L]
b2
|

o
Ll
|

Options :
68634056733. 1
68634056734. 2



68634056735. 3
68634056736. 4

Question Number : 84 Question Id : 68634014366 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O X, X, X, Ta 9 us arefess ufaewl § aur wiear a=a
BT f(x)=2e208) x>0 TUT6 =071 Ta Ul AT gRT 6 1 31HaA &

N
|

T
(8]
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Options :

68634056733. 1
68634056734. 2
68634056735. 3
68634056736. 4

Question Number : 85 Question Id : 68634014367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X}, X,,.....X, be a random sample from the exponential distribution with mean 26. Then I(8). the Fisher's

maximum information about the unknown parameter 6 contained in its unbiased estimator is

| )

n
4.2

o

Options :

68634056737. 1
68634056738. 2
68634056739. 3



68634056740. 4

Question Number : 85 Question Id : 68634014367 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT, X, RG] g 4 U Jeiwsd 9% o forad] AT 26 § | 79 SIR1d HT9d 6 & 9R| 3R, &l
P AT Sibad | SfAdy . [PIR S siiteas YoM 1(0) §

=
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Options :

68634056737. 1
68634056738. 2
68634056739. 3
68634056740. 4

Question Number : 86 Question Id : 68634014368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



It X, X,,....X, be a random sample from N[p. =9, 52] ,6° is unknown and - _ (X - ‘?J J ~ Ut where
Q ¥ H—
I n g

ST =— Z (X,- - f)_ and P(T > rm.z) = % Then 100(1 - (1_]% confidence interval for 8. 1s:

S g e E g
: ;—” Iruj?’ + ] u,v’zJ

Options :

68634056741. 1
68634056742. 2
68634056743. 3
68634056744. 4

Question Number : 86 Question Id : 68634014368 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634056741. 1
68634056742.2
68634056743. 3
68634056744. 4

Question Number : 87 Question Id : 68634014369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X;,.X),....X, be a random sample from the uniform (6 — @. 8 + @)population. If the maximum sample

observation is X,y and the minimum sample observation is X;). then maximum likelihood estimator of &.1s:
&

b-Aiy

Options :

68634056745. 1
68634056746. 2
68634056747. 3
68634056748. 4



Question Number : 87 Question Id : 68634014369 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HE X, X,,.... X, THEHE G (6 - 0. 6 + 0) W U5 Hidas ¢ e sl ufias & x,, § a1
I Ufes VAT X, ) B, 9 ¢ BT iftban SHIfad b §

L X4,
2. X0 )
2
3. Xm,u
4. X =%
2
Options :

68634056745. 1
68634056746. 2
68634056747. 3
68634056748. 4

Question Number : 88 Question Id : 68634014370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Cramer Rao lower bound of an unbiased estunator. in case sample of size # is drawn from
Cauchy (28, 1) population, is

[ )

SRS e

1

Options :

68634056749. 1
68634056750. 2
68634056751. 3
68634056752. 4

Question Number : 88 Question Id : 68634014370 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634056749. 1
68634056750. 2
68634056751. 3
68634056752. 4

Question Number : 89 Question Id : 68634014371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a normal distribution, quartile deviation. mean deviation and standard deviation are in the ratio:
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68634056753. 1
68634056754. 2
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Question Number : 89 Question Id : 68634014371 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 90 Question Id : 68634014372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If T1 and T are two distinct unbiased estimators of (8) and T = E[T:_" TJJ . then:

1. Var(T] = Var(?])

2 E(T)2v*(0)
3. E(T) =2y (6)

Options :

68634056757. 1
68634056758. 2
68634056759. 3
68634056760. 4

Question Number : 90 Question Id : 68634014372 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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1. Var{T] = Var(T])

b2
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Lad

E(T)=2y*(0)

Options :

68634056757. 1
68634056758. 2
68634056759. 3
68634056760. 4

Question Number : 91 Question Id : 68634014373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From a normal population with standard deviation = 4, a random sample of size 16 with mean = 27 is selected.
For testing H 1) =30 against H, :u# 30 . the p-value of the test is

[If X~N (0, 1). then P[|X| < 1]=0.6826, P[|X| < 2] = 0.9544, P[[X| < 3] = 0.9973
1.0.0027
2.0.0456
3.0.3174
4.0.1960

Options :

68634056761. 1
68634056762. 2
68634056763. 3
68634056764. 4

Question Number : 91 Question Id : 68634014373 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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[Afd X~N (0. 1). 99 P[X] < 1]=0.6826. P[|X| < 2] = 0.9544, P[X| < 3] = 0.9973
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Options :

68634056761. 1
68634056762. 2
68634056763. 3
68634056764. 4

Question Number : 92 Question Id : 68634014374 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A random sample is drawn from the normal population with parameter (u,100). In a test of Hjy:p =4,
against f1) 1|l # L . ais the value of the test statistic computed from the sample.

If P[Test statistic < a] = 0. then the p-value of the test 13
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Options :

68634056765. 1
68634056766. 2
68634056767 3
68634056768. 4
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Correct Marks : 4 Wrong Marks : 1
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Options :

68634056765. 1
68634056766. 2
68634056767. 3
68634056768. 4

Question Number : 93 Question Id : 68634014375 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A random sample of size 100 is drawn from the normal population with parameter (1(}, 62) for testing

2 ; 2 : i
Hy:o = Cp against /) ‘62 > 0 - If a is the value of the test statistic computed from the sample and P[Test

statistic < a]=1-0, then the p-value of the test is
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Options :

68634056769. 1
68634056770. 2
68634056771. 3
68634056772. 4
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Correct Marks : 4 Wrong Marks : 1
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Options :

68634056769. 1
68634056770. 2
68634056771. 3
68634056772. 4

Question Number : 94 Question Id : 68634014376 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From normal population with standard deviation = 4, a sample of size 16 units has mean = 32 1s selected. For
testing H 1t =30 against H| : pt # 30 the p-value of test is:

[If X ~ N(0,1). then P(| X|<1)=0.6826, P(| X|<2)=0.9544, P(| X |<3)=0.9973]

1. 0.0013
2. 0.0356
3. 0.0456
4. 0.2060

Options :

68634056773. 1
68634056774. 2
68634056775. 3
68634056776. 4
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Correct Marks : 4 Wrong Marks : 1
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Options :

68634056773. 1
68634056774. 2
68634056775. 3
68634056776. 4

Question Number : 95 Question Id : 68634014377 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X;,i=1,2,3,4 be arandom sample of size 4 from Bernouli distribution with the parameter 8(0 <0 < 1).

: ; 1 ; ; . 1 4 e
For testing the null hypothesis H,:0 = 3 against the alternative hypothesis H,:0 > 3 the rejection region 1s

X+ Xy + Xy + X, > 2 If 7(0) 1s the power of the test, then the value of 28?[%) s
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Options :

68634056777. 1
68634056778. 2
68634056779. 3
68634056780. 4
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68634056777. 1
68634056778. 2
68634056779. 3
68634056780. 4

Question Number : 96 Question Id : 68634014378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The parameters of a BIBD are (11, 11, 5, 5. 2). The parameter of its compliment design will be:

1.(11. 11, 6, 6, 2)
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3.(11.11,6,5.2)

4.(11.11, 6.5, 3)

Options :

68634056781. 1
68634056782.2
68634056783. 3
68634056784. 4

Question Number : 96 Question Id : 68634014378 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634056781. 1
68634056782. 2
68634056783. 3
68634056784. 4

Question Number : 97 Question Id : 68634014379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The error degree of freedom for Randomize Block design with 7 treatments each replicated » times and having
one missing observation is:
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Options :

68634056785. 1
68634056786. 2
68634056787. 3
68634056788. 4

Question Number : 97 Question Id : 68634014379 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

68634056785. 1
68634056786. 2
68634056787. 3
68634056788. 4

Question Number : 98 Question Id : 68634014380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To test the significance of variation between the doctors treatment at 5% level of significance, five doctors.
Each doctor test five treatments for a certain disease and observe number of days each patient takes to recover.
In ANOVA table if sum of squares between doctors is 24 units and Error sum of squares i1s 32 units then the
value of F-Statistic for testing that there 1s no significant difference between doctors is;
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Options :

68634056789. 1
68634056790. 2
68634056791. 3
68634056792. 4

Question Number : 98 Question Id : 68634014380 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Question Number : 99 Question Id : 68634014381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To test the significance of variation between the doctors treatment at 1% level of significance. six doctors.
Each doctor test five treatments for a certain disease and observe number of days each patient takes to recover.
In ANOVA table degree of freedom of variation in error is:
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Options :

68634056793. 1
68634056794. 2
68634056795. 3
68634056796. 4

Question Number : 99 Question Id : 68634014381 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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68634056793. 1
68634056794. 2
68634056795. 3
68634056796. 4

Question Number : 100 Question Id : 68634014382 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



If we delete one block from symmetric BIBD and from the remaining blocks delete all those treatments which
belong to the deleted block. then the resultant BIBD is:

1. Resolvable BIBD
2. Derived BIBD
3. Residual BIBD

4, Natural BIBD

Options :

68634056797. 1
68634056798. 2
68634056799. 3
68634056800. 4

Question Number : 100 Question Id : 68634014382 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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